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Soldions ]

Show your work! No calculators! Please draw a around your answers!

Please do not write on your desk!

1. (8 pts.) Evaluate the Ilmlt if it eX1sts

T 2
. 224+ 6 = = -
(a) 1I—> 3 $f+27 ‘X"\ -3 m\ x»,S x1-3¥‘\’7 67_\—6-17
x#-D
2
sin(z+1) _ s{l\(b\ - Kln(Z\
b Bm L = T TN 4

){HJ/)(l) B /&r‘\ )2(’4’3/)(1

© tm 28 < S — T e (G fyh
AT T s \UW

A~ (|+J/x> _ ! - =0

e (Y (2

N

o

2. (8 pts.) Find the numbers at which f(x) is discontinuous. Give reasoning.
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3. (8 pts.) Find f'(3) if f(x) = 52* — 4, using the limit definition of the derivative only.
(Note : Any other methods will not receive any credit.)
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(8 pts.) Find the tangent line to the graph of y = 2cos(z) + 3sin(z) at z = %
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5. (10 pts.) Find the following derivatives. DO NOT SIMPLIFY YOUR ANSWERS.
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6. (8 pts.) Using the definition of the limit, prove that hm r*—1=38.

Gruen €2 oot 1o [l N0 ao Ahod
ol 1eenl (s = |k=0-gl €
IS P PERYRE %Q

ot
Led 3K & 2¢x<q DS G
= \X—\“S\<7’
Pka ¢ ( M\m( \ )i/:y/>
Thew f 5 | NS
e\ T

@ IY'3\<| JJO

and
Bollx31<E & x-3\ <Yz

Hénb(,/

(x*-1)-8 ‘: )X'E\'\M\é -3 '?é

£
]

‘?:2

aed



